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total = 0

for i in range(1, 1000):
ifi %$3=0:
total = total + i
print{total)

> C:WUser sifagebriPycharmProjectsiGSeekifvenviScr iptsifpython.exe C:/Users/agebr/PycharmProjects/GSeel! g
= Com {
> 166833
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" Process finished with exit code 0

#1,000 O|2te| 32| i~} 52 12
total = 0 - H|+8 25 gsh= W=, for HES
total A[F Z2f2 0
for i in range(1, 1000) :
ifi % 3 == 0: — Ql=47}0| 32| =< [}
total = total + i — i totaldf| =X
elifi % 5==0: - i= 32| = I'IIQI 59| U= mf ghat
total = total + i — i totaldf| =X

print(total)
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total =0
for i in range(1, 1000) :
ifi%°3==00ri%5==0:
total = total + i
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retres total = 0
for i in range(1, 1000):

if i%3==Odr i%5=0: 39_| HH¢O|71LI', 59_| HH¢O|

A
total = total + i =
print(total)

for i in range(1, 50):
ifi®3=0and i %5==0:

tntal = tntal 4 i:

C:WUser sitagebrifPycharmProjectsiGSeekifvenviScr iptsitpython.exe C:/Users/agebr /PycharmProjects/GSeek/(
5 233168




# 39| Hj==0]11, 59| B+~ Ztof Bt

total =0
for i in range(1, 50) :
ifi% 3==0andi%5==0:— 32| H£~0|11, 52| H{f2I &=
total = total +i
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Seck

s i print(total)

for i in nge(w. 50): . ‘
ifi®*3=0and i %5==0: 39" HH—¢_O|-_’LI 59" HH¢_OLI 1A_

total = total + i:|

% C:WUser sifagebrifPycharmProject sGSeekifvenviScr iptsiipython.exe C:/Users/agebr ’PycharmPfojects/GSeek'G&
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